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P - I (1+1+1) G / 20 (N)

2020

GEOGRAPHY (General)
Paper : I - A & B

(Physical Geography)

[New Syllabus]

Important Instructions
for Multiple Choice Question (MCQ)

 Write Subject Name and Code, Registration number, Session and Roll
number in the space provided on the Answer Script.
Example : Such as for Paper III-A (MCQ) and III-B (Descriptive).

Subject Code : III A & B

Subject Name :

 Candidates are required to attempt all questions (MCQ). Below each
question, four alternatives are given [i.e. (A), (B), (C), (D)]. Only one
of these alternatives is ‘CORRECT’ answer. The candidate has to write
the Correct Alternative [i.e. (A)/(B)/(C)/(D)] against each Question No.
in the Answer Script.
Example — If alternative A of 1 is correct, then write :

1. — A
 There is no negative marking for wrong answer.
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Paper Code : I - A
Full Marks : 15 Time : Thirty Minutes

Choose the correct answer.

Each question carries 1 mark.

1. What is the density of oceanic crust of the earth?

(A) Around 2.35-2.55 g/cm3

(B) Around 2.45-2.65 g/cm3

(C) Around 2.15-2.35 g/cm3

(D) Around 2.70-2.80 g/cm3

1Ð ›£y¢y†îû#ëû ¦)þcöì„þîû ‡˜c „þ“þÚ

(A) ²Ìyëû 2.35éôé2.55 @ùÌy›/‡˜öì¢!›

(B) ²Ìyëû 2.45éôé2.65 @ùÌy›/‡˜öì¢!›

(C) ²Ìyëû 2.15éôé2.35 @ùÌy›/‡˜öì¢!›

(D) ²Ìyëû 2.70éôé2.80 @ùÌy›/‡˜öì¢!›

2. According to Wegner the continents like North America, Europe, North and
Mid-Asia combinedly built —

(A) Pangea

(B) Panthalasa

(C) Gondwana

(D) Lorasia

2Ð çöìëû†˜yöìîûîû ›öì“þéôôôévþz_îû xyöì›!îû„þy– £zvþzöìîûyþ™– vþz_îû ç ›•Ä ~!Ÿëûy ~„þöìe †àþ˜ „þöìîû éôôôé

(A) þ™Äy˜!‹ëûy

(B) þ™Äy˜íyœy¢y

(C) †[þëûy˜yœÄyuþ

(D) œöìîû!¢ëûy
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3. Which part of the interior of the earth is called as NIFE?

(A) Sial
(B) Core
(C) Sima
(D) Mantle

3Ð þ™,!íî#îû x¦þÄhsþîû¦þyöì†îû ö„þy ä̃ x‚Ÿ !˜öìšþ (NIFE) ˜yöì› þ™!îû!‰þ“þÚ
(A) !¢ëûyœ
(B) ö„þw›[þœ
(C) !¢›y
(D) =îû&›[þœ

4. Which of the following kind of rock majorly composed the asthenosphere?
(A) Pegmatite

(B) Peridotite
(C) Biotite
(D) Granite

4Ð ²Ì•y˜“þ ö„þy ä̃ !Ÿœy myîûy xÄy¢öìíöì̃ y!ßþ³þëûyîû †!àþ“þÚ
(A) öþ™†›yÝþy£zÝþ
(B) öþ™!îûöìvþyÝþy£zÝþ
(C) îyöìëûyÝþy£zÝþ
(D) @ùÌy˜y£zÝþ

5. The mean temperature of the core of the earth is about —
(A) 2000°C
(B) 5000°C

(C) 6000°C

(D) 4000°C
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5Ð þ™,!íî#îû ö„þw›[þöìœîû †vþü “þyþ™›yey ²Ìyëû éôôôé

(A) 2000° ö¢.
(B) 5000° ö¢.
(C) 6000° ö¢.
(D) 4000° ö¢.

6. Which is not the endogenetic force —
(A) Erosion
(B) Fault

(C) Compression
(D) All of these

6Ð !˜öìÁ¬îû ö„þy ä̃!Ýþ xhsþîû‹y“þ Ÿ!_« (Endogenetic Force) ˜ëûÚ
(A) Çþëû
(B) ‰%þÄ!“þ
(C) vþzF‰þ ç þ™yÙ»Å ‰þyþ™
(D) vþzþ™öìîûîû ¢î„þ!Ýþ

7. How many minor plates have been identified so far?
(A) 26
(B) 23
(C) 20

(D) 15

7Ð ~ëyîê „þ“þ=öìœy Ç%þoþ™y“þ (Minor Plates) …%¤öì‹ þ™yçëûy ö†öìŠéÚ
(A) 26
(B) 23

(C) 20

(D) 15
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8. Snow line at lowest height is majorly found in —

(A) Equatorial region

(B) Polar regions

(C) Mid latitudes

(D) None of the above

8Ð !˜Á¬ vþzF‰þ“þyëû “%þ¡ìyîû öîû…y (Snow line) ²Ì•y˜“þ ö”…y ëyëû éôôôé

(A) e«yhsþ#ëû xMþéöìœ

(B) ö›îû& xMþéöìœ

(C) ›•Ä xÇþy‚öìŸ

(D) vþzþ™öìîûîû ö„þyöì̃ y!Ýþ£z ˜ëû

9. Running water landforms are also known as —

(A) Coastal landforms

(B) Fluvial landforms

(C) Arid landforms

(D) Glacier landforms

9Ð ²Ìîy£›y˜ ‹œ•yîûy myîûy †!àþ“þ ¦)þ!›îû*þ™öì„þ x˜Ä¦þyöìî îœy £ëû éôôôé

(A) ö„þyÞÝþyœ œÄyuþšþ›Å

(B) šÏ$þ!¦þëûyœ œÄyuþšþ›Å

(C) ~!îûvþ œÄyuþšþ›Å

(D) @ÕÄy!¢ëûyîû œÄyuþšþ›Å
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10. The concept of geomorphic cycle of erosion was postulated by —

(A) W. Penck

(B) King

(C) Crikmay

(D) W. M. Davis

10Ð ¦)þ!›îû*þ™ Çþëû‰þöìe«îû •yîû’y!Ýþ !”öìëû!Šéöìœ˜ éôôôé

(A) vþ!îÏ$vþz. öþ™Bþ

(B) !„þ‚

(C) e«#„þöì›

(D) vþ!îÏvþz. ~›. övþ!¦þ¢

11. Landforms not associated with wind erosion —

(A) Dunes

(B) Zeugen

(C) Yardang

(D) None of these

11Ð !˜öìÁ¬îû ö„þy ä̃ ¦)þ!›îû*þ™!Ýþ îyëû%îû Çþëû„þyöì‹îû šþöìœ ¢,ÜT ˜ëû éôôôé

(A) !vþëû%̃ ¢

(B) ‹%Ä£zöì†˜

(C) £zëûyîû”y‚

(D) vþzþ™öìîûîû ö„þyöì̃ y!Ýþ£z ˜ëû
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12. Which river does not make George?

(A) Narmada

(B) Chamble

(C) Mahanadi

(D) Subarnarekha

12Ð ö„þy ä̃ ˜”#!Ýþ “þyîû ö›y£˜yëû ‹‹Å (Gorge) ÷“þ!îû „þöìîû!˜Ú

(A) ˜›Å”y

(B) ‰þÁºœ

(C) ›£y˜”#

(D) ¢%î’Åöìîû…y

13. The earthquake prone zones of India have been divided into —

(A) 2 zones

(B) 3 zones

(C) 4 zones

(D) 6 zones

13Ð ¦þyîûöì“þîû ¦)þ!›„þÁ™²Ìî’ xMþéœ=!œöì„þ ö›yÝþ „þëû!Ýþ ¦þyöì† ¦þy† „þîûy £öìëûöìŠéé ôôôé

(A) 2!Ýþ ¦þyöì†

(B) 3!Ýþ ¦þyöì†

(C) 4!Ýþ ¦þyöì†

(D) 6!Ýþ ¦þyöì†
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14. Name the branch of science which discusses about ‘earthquake’ —

(A) Pedology

(B) Geology

(C) Edafology

(D) Seismology

14Ð !îKþyöì̃ îû öë Ÿy…y!Ýþ ¦)þ!›„þÁ™ (earthquake) !î¡ìöìëû xyöìœy‰þ˜y „þöìîû éôôôé

(A) öþ™öìvþyœ!‹

(B) !‹çœ!‹

(C) ~vþyöìšþyœ!‹

(D) !¢¢öì›yœ!‹

15. Which of the following is not an example of igneous rock?

(A) Shale

(B) Dolerite

(C) Basalt

(D) Riolite

15Ð !˜öìÁ¬îû ö„þy ä̃!Ýþ ~„þ!Ýþ xyöì@Àëû !Ÿœyîû vþz”y£îû’ ˜ëûÚ

(A) ö¢œ

(B) övþyöìœîûy£zÝþ

(C) îÄy¢ÎÝþ

(D) îûyöìëûyœy£zÝþ
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P - I (1+1+1) G / 20 (N)

2020

GEOGRAPHY (General)
Paper : I - B

(Physical Geography)

[New Syllabus]

Full Marks : 35 Time : One Hour Thirty Minutes

The figures in the margin indicate full marks.

Section - I

Answer any two questions.

1. Discuss the concept of ‘cycle of rocks’ with appropriate illustration. Shortly
explain the influence of rocks on various landforms and topography of the planet
earth. 5+5=10

2. Discuss the natural and manmade causes of earthquake. What are consequences
of earthquake?—explain. 6+4=10

3. Give a detail explanation, with suitable diagrams, about the landforms sculptured
by erosional works of glacier. 10

4. With suitable diagram, discuss about the interior of the earth in details. 10

Section - II

Answer any three questions. 5×3=15

5. Write short note on bio-physical weathering. 5

6. What are the bases of Continental Drift Theory? 5

7. Write short note on hydrological cycle. 5

8. Distinguish between weathering and erosion. 5
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9. Make short notes on ‘river meander’ and ‘river island’. 2.5+2.5=5

10. Write down the merits of Supernova hypothesis. 5

îDy %̃îy”
!î¦þy† éôé „þ

öë ö„þyöì̃ y ”%!Ýþ ²ÌöìÙÀîû vþz_îû ”yçÐ

1Ð vþzþ™ë%_« !‰þe¢£ ò!Ÿœyîû Çþëû‰þe«ó •yîû’y!Ýþ xyöìœy‰þ˜y „þîûÐ þ™,!íî# þ™,öìÛþ !î!¦þ§¬ ²Ì„þyîû ¦)þ!›îû*þ™
ç ¦)þéôé²Ì„,þ!“þ †àþöì̃  !Ÿœyîû ¦)þ!›„þyîû ¢‚öìÇþöìþ™ îÄy…Äy ”yçÐ 5+5=10

2Ð ¦)þ!›„þöìÁ™îû ‹˜Ä ”yëû# !î!¦þ§¬ ²Ìy„,þ!“þ„þ ~î‚ x²Ìy„,þ!“þ„þ „þyîû’=!œ xyöìœy‰þ˜y „þîûÐ
¦)þ!›„þöìÁ™îû šþœyšþœ=!œ !„þ !„þ éôôôé îÄy…Äy ”yçÐ 6+4=10

3Ð !£›îyöì£îû Çþëû „þyöì‹îû šþöìœ †!àþ“þ ¦)þ!›îû*þ™=!œîû vþzþ™ë%_« !‰þe¢£ !îhßþy!îû“þ xyöìœy‰þ˜y
„þîûÐ 10

4Ð ëöìíyþ™ë%_« !‰þe¢£ þ™,!íî#îû x¦þÄhsþöìîûîû !î˜Äy¢ ¢Á™öì„Åþ xyöìœy‰þ˜y „þîûÐ 10

!î¦þy† éôé …þ

öë ö„þyöì̃ y !“þ˜!Ýþ ²ÌöìÙÀîû vþz_îû ”yçÐ

5Ð ÷‹îéôéëy!sþf„þ xyî£!î„þyîû ¢Á™öì„Åþ ~„þ!Ýþ Ýþ#„þy öœ…Ð 5

6Ð ›£#¢Mþéîû’ ›“þîy” (Continental Drift Theory)éôé~îû !¦þ!_=!œ !„þ !„þÚ 5

7Ð ‹œéôé‰þe« ¢Á™öì„Åþ ¢‚öìÇþöìþ™ ~„þ!Ýþ Ýþ#„þy öœ…Ð 5

8Ð xyî£!î„þyîû ç Çþëûéôé~îû þ™yíÅ„þÄ !˜îû*þ™’ „þîûÐ 5

9Ð ¢‚öìÇþöìþ™ ò˜”#éôéî¤y„þó ç ò˜”#éôém#þ™ó ¢Á™öì„Åþ Ýþ#„þy öœ…Ð 2.5+2.5

10Ð ¢%þ™yîûöì̃ y¦þy ›“þîy” (Supernova hypothesis)ôé~îû =’yîœ#=!œ öœ…Ð 5


